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| Question| ‘ B
NG Questlons
32, : 'Three fourth of a number is 60 more tnan 1ts one- thlrd The number 1s
@84 () 108 '
_(c) 144 e (d)< None ofth"ese-
33 The sum of two numbers is 40 and thelr dlfference is 4 The ratlo of the
"'number1s e ‘ : :
PahEi e e "(b) 11-'18
(@ 2L 19 S T (d) 229
34. What is the sum of two consecutwe even nambers, tne dlfference of whose
: squares is 847 = : :
e e s (b) - 38
O e et D e |
35. | Two numbers d1ffer by 5.If thelr product is 336 then the sum of the two
g number51s P : ; :
IWRG e e e B
© 37 i b G (d)51
' 86. | A man is 24 years older than h1s son In two, year h1s age w111 be tW1ce the
~age of his son. The present age of his son is : s
(a) 14 years Lo (b) 18 years
I (c) 20 years sHifn (d) _2_2 years
37, "Half of 1 percent written as a dec1ma1 is
Ty soos: . -lip ) 005
S Chni e e @ 02 -
38. -Substractmg 40% of a number from the number we get the result as 30

The number is -

@B ® w '52; W
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| 39 .A man gams 20% by selhng an art1cle for a certam prlce If he sells it at -
e : 'doubie the pr1ce the percentage of proht W1l1 be
% o © 10 - @120, (d) 40
| 40. The ratlo of three numbers 3 4 7 and t‘le sum of thelr squares is 1250
v ‘The sum ofthe numbers is : - : : =
: .I<a> L e
: Part—'-III'
| s > Reasonmg
S aq ‘}Maﬁgo;:- Fruit : : Potato 9 o '.
() Root cous ) Fruite
[@ B s s (D) Voves
42 :.Newspaper Press Clo't:h.:"? :
,‘-;(&) Taxlor = | : | (b)‘Textile
"(c) Fibre (d) Mill
|: Dlrectlons (Q 43-45) In each of the followmg questmns, four Words have |
.been glven out of which three are ahke in some manner w}ule the fourth -
5 :one 1s dlfferent Choose out the odd one. :
43. .-.(a) Cot - (b Sheet (0 Qqut E (d) Plllow
44, (a) Run | (b) Walk () Thmk ' (d) Jump
45. b(a) House (b) ”Cottage (c) School (d)-_»Hut_.i ]
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- Directions (Q 46—48) In each of the followmg questlons four numbers :
- are given out of which three are alike in some manner while one IS dJﬂ'erent ;
Cheose the one, Whlch is different from the rest three '
46. (a) Wy (c) 15 (d) 17
At e e 186 © 1 @ 188
Blem e @w @ B0,
‘49, | If SUMMER is coded as RUNNER the code for WINT"‘R wﬂl be
|y sermmr: - - 0 VIOUER
| © . WALKER EL SUFFER
| _ 50 : In a certaln code 1anguage, THANKS is- ertten as’ SKNTHA How is
STUPID written in that code language 2 : ‘
'(a) DIPUTS ‘ - (b DISPUT _
(c) DIPUST e G (d) None of theée e
~BI. |1 A gu'l mtroduced a boy as the son of the daughter of the father of her
: _ -uncle The boy is glrls S : :
g (a) Brother s ,' e '(b)"’Son ¢ v
© Uncle = (d) Nephew :
| 52. | A is. father of C and D is son of E Eis brother of A If C is 31ster of D how

1sBrelatedtoE'7 e >

j (?l)' Daughter i
| ® Brotherinlaw
| (¢ Husband' -

(d) Sister-inlaw

(AT e .
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' Directions (Q 53-56)" Study the fo]lowmg 1nformat10n carefully and answer

| the questions given below :

Six friends A, B, C, D, E and F are 31tt1ng in a row facmg towards North f :
C is sitting between A and E. D is not at the end. B is 51tt1ng 1mmed1ate e
r1ght to E F is not at the right end : :

How many persons are there to the rlght of D7
e o (b) Two g
'(c) "Three- ' (d) None of these :
1 54 1 Wh1ch of the followmg pa1rs is mttmg to one s1de of D e
_v--_(a) e (b) FC :
| ((;)‘.FE. T oy None of these
55, | Whois immediatelefttoC?
(0 E_ither‘ EorA () Cannot be determmed
5&) Who ie at the right end ? -
.(a).A. ' i (b)B :
1 (c) E _ ' | o (d) Cannot be determmed :
57.

' -I am facmg East Iturn 100° in the clocLW1se d1rect1on and then 145° in the o
| anti clockwme direction. Which dlrectlon am I facmg now? ;

‘(a) East

(b) North-West
(@ North -
(d) South-West

ET-1433 o
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o . Dlrectlons (Q 58—60) Arrange the given Words in the alphabetlcal order :
< and tlck the one that comes last. _‘ : |
- 58. (a)- Fmger ‘ (b) Forma] (c) Forget (d) »'Forgo‘ |
59. | () Mink ® Murder @M Multitude (d) Music
60. (a) Transmlt (b) Tlansplant (o) Transport (d) . Translate
Part—IV .
: General Kn,owledge
61, 'The longest railway platform in Indla isat - o :
(a) Delhi (b) Kharagpur (c) Mumbal .(d)",Ko]kata'
62 ‘The small'eStplanetls | A' | . | " .v -
(a) . Mercnry (b) Mars : “(c) - Neptnne (d) No_nei'of 'these.j_ ot
63. TheAnt1 TobaccoDaylson » : o _ _ .. T
’(a) 3lstJanuary A : (). 31st March
() _315t,May e ';(d):". 30_th'June .
64;- The Indian Parhament derwes 1ts power from -
' (@) Constltutlon ey - (b).. President of Indla v
}(c) Prlme Minister of Indla (d)-v Supreme Court of India
65. _How many bones are there in the human body ? . _ o o
@i b 206 = (c)? 266 ' (@) None of these
66. Durand cup is assomated W1th the game of ' - .. i
1 (a) Tennis  (b) Footba]l - (c) Cricket (D) Hockey ,

'ET;14332 - . ,»_.}’(10). '
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‘e ‘67; : ‘The largést copper produéing country in the world is
@ Tidhr e | . (b): Clﬁna. :
() Chile E (d) None of these
68. | CBSE stands for . - _ | o
o] (a) Central Board of Se’cohdarf;"'Education
®) "'Cémmén Board of Sch601 Education
| ‘(é‘)“ 'Y‘Common Board of Stock Exchange | :
- '(d).l ‘Centra]. Bureauof S econdary Educaﬁon
| - 69. | Which vitamin is}provided by‘sunlight to_the body-'.? s
(a) VitaminA ' (b) VitaminB .
_ (c) VltammC o (d) VitaminD -
70.,. : Anuther word for CPU is 7 e | '
(a) Mlcroprocessor =iy (b)’ Execute
i (c) Mlcro Chip e | (d) Decode
= 71. The Bo.nbay Stock Exchange was set upin _
| (a) 1875 (b) 1900 . (¢) 1922 (@) 1947
72. .Accordmg to area, Whlch state is largest e
| (@) Madhya Pradesh _ .; i () Maharashtra
(©) Rajasthan : > (d) Dttar Pradesh
-+ 73 .'My Life is the autoblography = - gk
| @ APJAbdwlKalam () RejendraPrasad
@ BillClintoh = (&) HillaryClinton -
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4,

India became a Sovereign democratic republicin

| @ Augl51047 () Jan.30,1948

© Jan'26‘1..950»" ) Nevos 1929

75, Who are the guardlans of Fundamental nghts e
' (a) Parhament '.., s (b) The Pres1dent P
' (c) _The Prmle Miuister. . (d) Supreme Court and ngh Court
76. The country w1thout Income Tax is ‘ ‘ -
@ Nepale g e T_ ") Kowait -
, (o). 'Singaporé o o ‘ ; (d) None of these : .
a7 . _The world famous AJanta Caves are sn;uated in the state of
. (a) Onssa - . () Karnataka an :
(o) vMadhya Pradeeh”' o (d) Maharaehtra. _‘
78 aoiden Temple is. su:uatedm . ‘ » A
(a) P.un]ab = (b) Haryana '
1 © .Himachalrradesh‘ s (d) Kerala
79,' : What can be the max1mum length ofa crlcket bat ? 7
(@) 82 (b) e @ 36" (d) None of Wess
‘,' 80. | In Wluch type of rocks are coal and petroleum found -
& (a) Gramte - i _' () Igneous -
(c) _Meta'niorphic'- Brragnd (d) Sedlmentary '_ -
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Entrance Test for 5 year Integrated Course of MBA Session
Roll No. of Candidate : ............

Sighatore of Candidate : ......... Lhy
Maxiinum Marks I: 80 _ | ‘ , . | ‘ | Time .2 Hours
' INSTRUCTIONS
Read the following instructioos before opéﬁin g the question booklet.
(1) This queStioo booklet comprises of 80 questiono Aok 4 A T

(i) Write your Roll N 0.0n both Questlon Booklet and OMR sheet.

‘(iii) Each questmn has four options (a), (b), (c) and (d) out of whlch one is correct.. - ! £
" The candidate is required to darken completely the correct optlon in the OMR
Answel Sheet supplied separately

- (v) Each correct answer carries 1 mark. -
(v) - There is no negative marking.
(vi) Rough work may be done in thls questlon booklet itself on the last three paoes

(v11) The questlon booklet along with the OMR answer sheet is to be handed over by
the candidate to the Inv1gﬂat01 at the end of the oxammatmn

- (vii) Use blue ball pen only to dar‘k‘_the answel‘ boXes.
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5 Parf—I Academlc Aptitude Test
Dn‘ectmn (Q 1to 4) Pick up synonyms of the word.
1. BARTER _, A
| @ Deal . ghord &) Return - S
oo dand e oy ke o
2. | EucIT o
' (a) Induce. _'  (b) Extract
»(c) D1vulge  (d) Instil
:_3._ : Movmg . i
1@ - Turmng "~ (b) Shifting
(¢) Toying - (d) Taking
| @ Soil B, Stain
(¢) Du"ty \ j(d) Conupt .
8 _Dlrectlon {Q 5 to 8): Select the vord or the phrase which i is the closest to
e —'the opposﬂ:e in meaning of the ur derhned word or phrase e
5. i : _He sald it woald be convement for im to meet me there ‘
: (&) Inadwsable o () bJectlonable
| (o) Troublesome = (d) Desn'able
6. | He: new hair style looks very attraotWe
| (a) Unbloommg ey (b Grand\
1) vUnb_eg:or_nmg ' () Fasomatg;g
1|1 ‘w.ors_h;ip' hirh_ as my ideel.» ' :
) Deif_si : . - (b) Despise
(c) Abuse ki '(d) 'Negleot :

ET—1433 i
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1~ 8. | Thereiss scarcity of m11k 1nMumba1 g it
(a) Shortage s (b) Abundance
(c) Excess : : (d) Sufﬁmency

Direction (Q 9 to 12): Pick out the most. effective word from the glven_- i
words to fill in the blank to make the sentence meanmgfu]ly complete,. = |

9, - Freedom is not a - but our blrthrlght
1) Sm. o :.."' (b) Gift :
'.4, © EHﬁsiOn» . b _(d) _ Present_ation |
| 10. Hundreds of people d1e ....... .. malaria in Villeges
L@y Hroms 0~ EERER S By /o
© W (D)0
11. have complete trust Gf_ed, L =
_<a> Upon o I
i This-is ..'."..‘.,.. book I was loomng for
| _(va)' N _ e s an
e - (d) For

and mark that part If there is no error, mark that part as your answer

13. He.sgeax not only English but Pun]abl as Well ~ No error_ - : =

S s T

Direction (Q 18 to 16) Some of the sentences are grammatlcally correct :
- and some are mcorrect Find out Whlch part of the sentence has an error ; ]
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14, |

1 will Sgend myremaininglife ._in the village 1 No error’
ONE = Ol

15.

- There is sﬁll little tea left in the cup No 'error"

@i .0 i L mingh

16.

Itis  npothingelse than foolishness = No érror b

@) i =) hie i T dald)

Duectlon (Q 17 to 20): Read the fo]lowmg passage and. choose the correct |
answer to the questions g'lven below the passage : ' :

- Gandhiji recognised that Wl’llle all men should have equal opportumtv, all
~did net have the same capacity. Some had the ability to earn more. But he
- »beueved that those who had talent would be performmg the work of somety g
- if they use their talent wisely and well: Gandhljl said that he wcmlcl allow a
man of mtellect to earn more and not suppress his talent. But it was his|
view that the bulk of his larger earmngs should go to the common fund ;
| Those with talent and opportumty would ﬁnd their fulﬁlment as trustees
j Gand‘nu extended this concept of trusteeshlp to cover all ﬁelds of 11fe

17. | —The tltle of the | ‘passage should be

(a) Gal’ldhljl S Ph}.leqopny {b) Gandhljl 8 Servmes .

: (c) Gandlnps%ews e (d) ‘Gandhljls Char.acter .

18.

Accordmg to Gdndhljl one can serve the society

@ | If he worked honestly (b) If he earned Well . v
| (¢) Ifheistalented - (d) If he used talent W1sely -

19.

_i _Gandhlj'l hév_er 'be]ieifed ln_ o _
(a) Politicalequality = (b) Social equality

(c) Equallty of opportunities (d) Complete equality in.all respects

 EBTiass T ®
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'20.“ - The meamng of Trustee is

_ (a) Person havgng conﬁdence :

’ (b) " Person who has charge of property in trust

(c) A number of trusts

(@) State ofﬁc1a1 who executes Wllls and trusts

<190

Part—ﬂ Numerlcal and Quantltatwe Ablhtv Test

- The sum of all two digit numbers d1v151ble by b1is

(@) 1035 Gt - ®) 126

| © 1250 e ren gy 945

Whlch of the followmg numbers is diViSlble by each one of 3, 7 , '9,. ér_id 11 o

By e U ) 2079 ha
»(c) 3791 (d) Nene efthese -

3.

: What leaSt number must be eldded_to 10_56, S0 that the sum is eempletely '-

lelSlble by 23 ?

@2 S (b}3

@ 5 RISl Ha) Neve of thioka 7

24,

892.7—573.07—95.0007="

Trostes () 2T
Pl ompgs o (d) 414637

25.

4,036 divided by 0.04 gives

@100 @10

(C) | 1009 | o . o (d) Nene of thése‘- o

s .-
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_VTwo fifch of one- fourth of three- seventh ofa number is 15 What is half of|

26.
: that number - _
Fay o (b) 9% -
. _"(c) -'188»‘:' - ~ oy (d) None ofthese
| 27. % The total number of digits used in numbermg the pages of a book havmg -
- 366 pages 1s , “ -
e __-(b)'990' o
“l© "'1'098.-* ‘- , = (d)"ane. of these'ﬁ i
"' 28. | Aman ‘has. some hens and cows If the number of heads be 48 and the :

_number of feet equals 140 then the number of hens w111 be - «

@2 = et

To o @ x
20| A=t .
TS S T(b) 126 .
"(c)fl,,iﬁ'ﬁ.f L aEeieiianaks
| 30. _' A The average of the first nine prlme numbers is
‘ (a)9 (b)ll'
(c) 11—.» ot ‘_.'(d)‘11—
: 31 "A batsman makesascme of 87 runsmthe 17th i 1nn1ng and thus increases|

-

hlS aver age by 3. His average after 17 th i mrung is

‘e w8 (d).";anéaf'thesé |

CoETo R





